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1) This is Billy’s height, recorded on his various 
birthdays. Find the rate of change of Billy’s growth.

2) One common mistake might be to divide 32 by 4 to 
get the rate at which Billy is growing. Explain what 
is wrong with this strategy.
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Years Billy’s height (inches)

4 32

7 41

9 47



HONORABLE MENTIONS: Sept. 25

 Jacob C: 𝟐𝟓
𝟐

 Sam U: 𝟔𝟐𝟓

 Rachel S: 𝟓𝟐 ∙ 𝟒 − 𝟓 ∙ 𝟑 ∙ 𝟓

 Cayden L: 
𝟑!

𝟐
+

𝟒

𝟐
𝟓



Review Homework





BACK TO Rate of Change Guided Notes

 Please complete the “Bikes” problem at the 
bottom on the back. Work with your elbow 
partner.



As a group…

 Complete the “Fire Department” task on the 
front of the guided notes. Work with your 
entire group. Get your answers checked by 
me!!!
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Slope

Objectives:

-Be able to find the slope of a line on a 
graph! (Today)

-Be able to find the slope between two 
points without using a graph (Next 
Week)
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Which roof is steeper???



Which roof is steeper?



Which line is steeper?

Increases 2 numbers for 
every 1 “x”

Increases 3 numbers for 
every 1 “x”

x y

2 0

3 2

4 4

5 6

6 8

x y

-7 0

-6 3

-5 6

-4 9



How steep is this line?
Increases 4 numbers for 

every 1 “x”

x y

0 -8

1 -4

2 0

3 4



How steep is this line?

Increases 5 numbers for 
every 2

𝟓 ÷ 𝟐 = 𝟐. 𝟓

Increases 2.5 numbers 
for every 1

x y

-2 -10

0 -5

2 0

4 5



Which roof is steeper?

8

4

Increases 8 numbers for every 4

𝟖 ÷ 𝟒 = 𝟐

Increases 2 numbers for every 1

15

10

Increases 15 numbers for every 10

𝟏𝟓 ÷ 𝟏𝟎 = 𝟏. 𝟓

Increases 1.5 numbers for every 1


